A Temple of Education

NILACHAL EDUCATIONAL TRUST
ODISHA VIDYARATNA AWARD
CLASS - VI

Time : 3 Hrs. Full mark : 120

Instructions to the candidates :
) All questions are compulsory. Candidates should write the answers only in the blank space provided.

o Candidates are advised to attempt either the Odia medium or the English medium questions as per their
choice.

) There will be no negative marking for any wrong answer.
[ Do the rough works on the sheet attached at the end of question paper.

A. Insert correct articles.

Q1. My fatheris M. A. in English.

Q2. Mumbai is London of India.

Q3. Rohitis unique boy.

Q4. | know how to play guitar.

Q5. Yesterday | met European. .
B. Fillin the blanks with proper degree of adj es

Q6. Diamond is the of all géms. >

Q7. Kavitaisthe irl in herfclass. (good) o

Q8. Make 10 tha B%; \IQIe

Q9. Reeé is &n hek sister. (intelligent)

Q10. Your handwriting sthe among all the students. (bad)
C. Use correcffon‘g)f verb given in the brackets.

Q11. When | am tried, | enjoy the T.V. (watch)

Q12. | have never a horse. (ride)

Q13. Nikhil is in his room. He to music. (listen)

Q14. He usually tiffin to school. (bring)

Q15. When | reached at the station, the train . (leave)

D. Use correct preposition./

Q16. The patient died cholera.

Q17. She burst tears.

Q18. She can't agree the proposal.

Q19. | am starting my new job 15t April.
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Q1.

Q2.

Q8.

Q4.

Q20. The book consists forty pages.

Use correct pronoun.

Q21. | saw a group of students. Some of were very smart.
Q22. You have had your share. Let me have

Q23. She is the lady bag was stolen.

Q24. They completed their work

Q25. | met Anil told me your address.

Put right conjunction.

Q26. Sarada her sister is busy in the kitchen.

Q27. | know he will come.

Q28. Sunil was punished he was qguilty.

Q29. Maria has cut her finger chopping vegetables.
Q30. He ran fast, missed the train.

Fill in the blanks with appropriate auxiliary verbs.

Q31. These days mumps not at all difficult.
Q32. A pair of shoes lying in the corner.
Q33. The United States a powerful country.
Q34. The scissors old.

Q35. Six weeks a long vacation for students.

Write collective nouns.

Q36. A of ants.

Q37. A of birds.

Q38. A of tr es \
A L\
A

o

Q39. “ofp pp| S.
ofs ilors. '\

Q40.

-

SCIFR AR TG SN 64! @@” |

Wounds take longer time to heal when we have deficiency of vitamin
21 DIg JIR QAR 26T 68@@6@ @@G{} IR 1L SN |

food for the body is useful which contains a varieties of vitamins .

CI8Q 696! 2réla 2lI6A SRS 926 fRIR, B1216, QQIAN |

The parts of plant which can be eaten are known as

2SR 6RSINER G° ARITSIER 60186 ORQg Qe |
Egg yolk is rich in and egg albumin is rich in
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Q5.

Q6.

Q7.

Q8.

Q9.

Q10.

Q11.

Q12

Q13.

Q14.

Q15.

Q16.

Q17.

Q18.

[2191% QQ{QG@ gl Q| QIR TIRANRR 2Qg| 621N |

Eating too much of fat rich foods may lead to a condition called
sllvex 2@l 2T SN 6al6Id Q1SS 6N | @ﬁ@l@l 2IF1 SN YR

@aedich 26%' |

The component of food that does not provide any nutrient to our body and yet is very
essential for our body is
$lYe g QGIAR QBRI QIR P 6RIRIN |

The vitamin of food that gets easily destroyed by cooking is
Yo 4aePe (6917) dRITQ 016 62108

Motion of a child on a swing is
AN @@ IS 8 QL. S U6 J26 KR |

The animals that consumes both plants and animals as its food is called
PREQ AR FOI e QLI |

Sweet juice from flowers is known as

Q@ FIRQQ QIR 621N |
Silk fibre is obtained from .
QAIIER Q@@ 2015 @Rl G2UR @QUAN |
is the process used for maklng si ri the fibr
NGQ® PG @@3@ 6 @CI

and r s re i uble\in water.

S
60Q Q@@I@Q 2l @N Q P12 HVR AL &N, FI21e IRNESINE

L —

Any material thatjoes not have a defined shape but has a defined volume are called

<€

RIP QRGIY 6ARIER Q. 1. d. 66 LAQR ARIA QARBR QAUNER QY T8 @QEM |
The great Indian Scientist Dr. A. P. J Abdul Kalam was born in state of India.
ARIINEIGE QM CINE] REM @y |

Generally on heating metals cause

R0, 6066IR, YR.D.G, 8.90.6 QeUdq a0l @e@ |

Paper, Petrol, LPG, CNG etc. are substances.

96 IRQER 6961260 Qo9 TRl 98 9

A change in which new substance is formed is called
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Q19.

Q20.

Q21.

Q22.

Q23.

Q24.

Q25.

Q26.

Q27.

Qz28.

Q29.

Q30.

Qa31.

Q32.

Q8383.

Q34.

e JR000 Q101 RN AAT QUNUIPER U6S 0121 620@

A change that occurs during a definite time interval is known as
IR FTQR AIRRIQD | A1 IR JRAR. @ |

is the process in boiling of milk to kill microbes.
dg A% R QAL QIR IR QR0 A28 |

Water changes into ice on cooling is an example of change.
6F, ailieq ARl 96 QRGP |

Dissolving sugar in water is a change.
PEQUR| I (@1Q1€] | QI8 | 21616]) |

Coronais a . (Germ / Virus / bug)
69@60"@\@ QMR @ ¢ |

The name of the scientist who invented telephone is

6410 @EI6Q AQOIR QE6 2GR Q26Q 218 |
The biggest known volcano in the solar system is located on planet.
QAR QYR JAIRE! 620&@ ARQEQ |

Dry wood is a t.

caSERR, @\Q@% ol
The name of the scientist whdiinvented penicillin is .

Stretching of rubber band is change.
696! QLR ArSia 2l6Rla J6RR @R G2l Q09 .
The materials which allow partial of transmisgion of light through e@called .
@ 210 6268 FIJR 9@ AR 1|)
SERI FI0 6268 -
conductor of h
I

A QQ]@@XQQ@QLQ Araedgl e &N |

In human body is the strongest muscle.

ANERE 2Ieq 636 (R18) A 626, @@ |

Bending of stem towards sunlight is called

adis 01 @Qd 2Id A QF6Q PR Al A5S. AR QIEE! |

It takes minutes for the sun light to reach on earth surface.

69 Q19 AQ2IQ| AYFIPFR QDG 6216 g &N |

Animals living in have very much reduced eyes.
o 62196Q JGHEaR QIQY| 6268 |

PAGE - 4



Q835.

Q36.

Qa37.

Qs8.

Qa309.

Q40.

Q1.

Q2.

Qs.

Q4.

Q5.

Q6.

The arrangement of leaves at a node is
RER IRQ QIRIQIRQI 60 e R0 |

Roots those come out from the base of stem is called
23, e 28 92 601062128 |

bones are attached with thigh bones.
21 SRR QI @D LIPR QG|

number of shoulder bones are there in our body.
e8] IR B @2 Q| 2R @I¢T |

part of the body bear the weight of whole body.
g 9Q0IQ KAl G SIRSIRT 219 2I6S |

is the longest and strongest bone.

PER UK. IS QAIKIN |
The metals which are shining in nature are called metal.
MATHEMATICS

QJQ@\Q el QIR 285 B 1249 @ QIS @6@ LEIREE 9 8 7 QUSIESIS QRQ |

is the greatest number which divides 285 and 1249 leaviag remainder 9 and 7

respectively.

601ISN @GR Bee 3 @.4ll. 225 gIF| 626m 39 & &

The mass of a brick is 3 kg 225 g. The|total ass,o)39 ch bricks, is :

9 661G @I 6 RAGE: CACNRER 1 sﬁ.ﬁ. QIS AN, 8060 @G 15 QTR 6J6LINER

A Qs ol >

L —

In covering 135 km alcar consumes 6 litre of petrol. km will go in 15 litre of

petrol. <

% 3 % 6IIPRE 3 Q A6LI6 f6@ S6G PR 62Q |
When G%} is subtracted from 3, the result is

1 Q49IQ QUl [ 2rel 12 96, |
fraction of an hour is 12 minutes.
OP 2x Qe Q@@ﬂ 38 Yaofl el @A 6JIICPR 8 2R PRAQ QIR |

The product of sum and difference of largest 3 digit number and the smallest 3 digit

number is
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Q7.

Q8.

Qo.

3116365 <SMIERQ 1 Q IR QIR 2 P I

The difference between the place value of 1 in 3116365 is
QS 31629475 reieR 1 8 4 @ dion 2ok Q@ @QUdN 606 @0 PEIT QQ( GMIOISY.

2o 699 |

If the places of 1 and 4 in 31629475 are altered then the new number will be
more than the previous number.
606! FQBF FEIQ) 7 Q646 @6m Q6allel PR 21, 28, 36 B 45 QIAl RIRY 29 698 PSS

?

Q10.

Q11.

Q12

Q13.

Q14.

Q15.

is the smallest number which when decreased by 7, becomes divisible by 21,
28, 36 and 45.
6RIIGNT ereMl 191 43 9 QLI QLURY, Gl &Ml QIR 1R QIR ?

A number will be divisible by if it is divisible by 4 and 9.
653*47 6Q dQI GIRR| G2 PR 6IR FQBF 2R 6REEA TEUIS € 0 QIR SAURY 29 692 RS

The least value that should be written at * so that the number 653*47 will be divisible by 11
is .

2=t Yo el 20, 25, 35 G 40 QIR ZRGI MG Q6] @M W 661@ Jdalaeet 14, 19,29 3
34 QEQ 698 IS

The smallest number which n divided by 042 35'and 40rleaves a remalnder of 14,

19, 29 and 34 respectively is
Q+Cﬂ+8+€\ TR @z agl
14+345+749+....... 19 1s N .

10,000 @ @qs*@q%@ el Bdda @ Q121 2, 3, 4, 5, 6 9e° 7 U60YUR QI A QI SRURY

8LQ |

2 ,

The two numbers nearest to 10,000 which are exactly divisible by each of 2, 3, 4, 5, 6 and
7 are and
601G €660 153 G 69@ @° 119 G @AR! 28 | Y@ PRYLR 0916 AP PR @Q IRITQ |

B0 JELYR GlRIER QQTQ@ P el
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Q16.

Q17.

Q18.

Q19.

Q20.

Q21.

Q22.

Q23.

Q24.

Q25.

Q26.

Q27.

There are 153 apples and 119 oranges in a basket. These fruits are to be arranged in
heaps containing the same number of fruits. Then the greatest number of fruits possible in
each heap is

Q& 2RAPSIR @GS QI

is the fractional from of five eighth.

< ~

36— 1. 696l

% fR 9@ 90GQ Qellaes 12%?1., 13-4, 8 5%?1 65a] 0@ @cITRl 69 2R

1
2

Ao 66dUR 960G QRel 8@ ?

. . 1 .
A rope, 36%m long was cut into three parts measuring 12§m, 13§m and S%m respectively.

The length of the rope left is

9991+9992+999§+999i+ 999§+999§ =
7 7 7 7 7 7

QAR QS AR QEIFSIR VST EUIER VRIS AR |

Two tens and two tenths in decimal is
7.8934 6Q 3 @ 4I1IAIe 6060 ?

The place value of 3in 7.8934 is
175694 foQ = @ e |

175¢cm = mm. (/
7 ~ . _
915 QSR Q= \Y) e

The decim of 9 g|>s
0.238 @ dl@@l’@@l"@ =

0.238 in fra(tion m =
3 SISl + 3 QEIPS =

3 hundredth + 3 tenths =
QeG 6Flhe reiiq 61.91.5) =

The HCF of the two prime number is equal to

e - = LRI |
1 lakh = thousands.
PEQ 6RIG PEQ 2RI PEQ @ ZHER RIS aEm 6LQ |

The number for ninety crores ninety thousand ninety is
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Qz28.

Q29.

Q30.

Qa31.

Q32

Q833.

Q34.

Q835.

Q36.

Qa7.

Qs8.

Q39.

Q40.

4,5, 6,9 2% QIPLIQ AR OF AR SdR FJeor el IR I 2R 5 62IRdQ |
(60161 21Fa JPRIQA 620 PIR)

The smallest three digit number using the digit 4, 5, 6, 9 such that 1st digit is fixed as 5.
(Repetition of digits not allowed) is

I35 % Q21 QIFe 1 Q. Q. 2\, 666Q 6 QI QLG AR, Q. 62Q |
If % of a teaspoon is 1 ml., then ml. are in 6 teaspoon.
QPG U 61.41.5 1 626@ 698 e QIR S Q21N |

If HCF of two numbers is 1 then the numbers are called as

66115 LI QIRIRY 4Q GleIRIdmR 6L 1IN |
A number is a of each of its factors.
1 Q 100 £RIER G 6l oretl 2@ |

Total number of prime between 1 to 100 is .
92*389 6Q Q| QIR §2C IIPER 2R 6RGIEM PSS 11 QIR SRIRY 624Q |

The digit that should be written in the * of the number 92*389 so that the number formed

will be divisible by 11, is .
66116 AQREQSIER G JIeGQ oM |
A line has end points.
<~ ) /
0.342 @ AR5 VYrsiS 26T

0.342 as fraction in lowest for

UFGS @@@ o8 a@@ eRo_ vV 2ed |

Geometrical figure whigh has\no imension is

Q6 7B 69sifga-68cly 9 ¢ 69.8. 99, 666Q © AB 6Q6IISISR 6Ga 69.8. 62Q |
If the length of a line segment AB = 29 cm., then 7 AB will be = cm.

601G @ G 2ANGQ e |

A ray has number of starting point.

1+17-38 q aqy
g g

The value of 1+1§—3g is

e 9@ = Qe |

1 ton = gram.
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